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Physiological Factors Affecting Performance 
INITIAL ASSESSMENT 1
Mark sheet

NAME:___________________

Q1	Consider the following statements:
“An anatomical movement in the transverse plane would be flexion of the knee.”
“An anatomical movement in the sagittal plane would be extension of the knee.”

a) Which of the following is true?
Put a tick (☑) in the box next to the correct answer.

A. Both Statements are true. 						☐
B.			The first statement is true, the second is false.			☐
C.			The first statement is false, the second is true. 			☐	
D.			Both statements are false.						☐
[1 Mark]



Q2	Name one agonist and one antagonist at the ankle joint at the point of take off during a vertical jump.
One agonist is the gastrocnemius 
One antagonist is the tibialis anterior							 [2 Marks]



Q3	Name and outline the function of both muscles used in creating flexion of the elbow.

Bicep brachii causes flexion by contracting and acts as the agonist.
Tricep Brachii supports the flexion by lengthening through the flexion, acting as the antagonist,
[3 Marks]

Q4	Fig.1 shows a performing a basketball lay-up shot:. 
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Fig 1.
a) Use your anatomical and physiological knowledge to complete the table below for the players’ right knee.


	Joint
	Joint Type
	Movement Produced
	Agonist
	Antagonist
	Plane of Movement at Agonist

	shoulder
	
Ball and socket

	
Adduction
	(Quads)
Vastus Lateralis Vastus Intermedius
Vastus Medialis
Rectus Femoris.
	(Hamstrings)

Biceps femoris 
Semitendinosus
Semimembranosus
	Sagittal



[4 Mark
Q5		Name one muscle in the trunk acting to maintain good posture and core stability during the biceps 	curl:
Put a tick (☑) in the box next to the correct answer.

B. Deltoid									☐
B.			Teres Minor								☐
C.			Rectus Abdominus							☐	
D.			Gastrocnemius							☐
[1 Mark]

Q6	Fig.2 shows a gymnast holding a position on the rings. 
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Fig 2.

a) Name two muscles in the rotator cuff group which aid the stability of the shoulder joint.

Supraspinatus, Subscapularis, teres minor, Infraspinatus. 
[2 Marks]

b) Name one anatomical movement that would be considered part of the transverse movement plane?
Horizontal flexion, Horizontal Extension, rotation. 
[1 Mark]







Q7	Fig.3 shows a person lowering their arm. 
[image: ]
Fig 3.
a) Complete the table below for the shoulder  joint moving in the direction of the arrow.


	Joint
	Joint Type
	Movement Produced
	Agonist
	Antagonist
	Plane of Movement at Agonist

	Shoulder
	
Ball and socket

	Abduction

	Medial Deltoid
	Latimus dorsi
	[bookmark: _GoBack]Frontal



[5 Marks]

Q8	Consider the following statements:
“Horizontal flexion is the movement of the limbs away from the midline of the body parallel to the ground.”
“Rotation is the movement whereby articulating bones turn about their longitudinal axis in a screwdriver action.”
b) Which of the following is true?
Put a tick (☑) in the box next to the correct answer.

C. Both Statements are true. 						☐
B.			The first statement is true, the second is false.			☐
C.			The first statement is false, the second is true. 			☐	
D.			Both statements are false.						☐

[1 Mark]



Q9	Fig.1 shows a performer completing a sit-up. 

Fig 1.
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a) Complete the table below to show movements that take place in the hip joint during the upward and downward phases.

	Phase
	Agonist
	Movement Produced
	Plane of Movement

	Upward
	
Illiopsaos


	
Flexion
	Sagittal

	



	
	
	



[3 Marks]

	Score  ___
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6 Fig.1 shows a performer doing a sit up.

Fig.1
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